C:h Vertical Division with a Helper Grid

Name:
Solve each problem. Answers
1) 2) 3)
1.
964128 694372 9718894
2.
3.
4,
5.
6.
) 5) 6) "
7511875 4818496 56|8624 8.
9.
7) 8) 9
45|19248 845031 2912204
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 43 2) 63125 3) 91r67 43
%4128 694372 o7[8894 -
0 0 0 2 63 r25
41 43 88
0 0 0 3. 91r67
412 437 889
4 25
384 414 873
288 232 164 5 177
288 207 97
0 25 67 6. 154
7. 205r23
4) 25 5) 177 6) 154
75/1875 48(8496 56(8624 s 59r75
0 0 0
18 84 86 J 76
0 48 56
187 369 302
150 336 280
375 336 224
375 336 224
0 0 0
7) 205123 8) 59r75 9) 76
45(9248 84(5031 292204
0 0 0
92 50 22
90 0 0
24 503 220
0 420 203
248 831 174
225 756 174
23 75 0
[ M ath ] www.CommonCoreSheets.com 6 B | = | 78| = | = | = | 33' = | = | > |




C:h Vertical Division with aHelper Grid Name:

Solve each problem. Answers
63 r25 154 59 r75 76 177 91 r67
43 25 205 r23 1.
1) 2) 3)

%4128 694372 978894

4) 5) 6) 8.

751875 4818496 568624 o

7) 8) 9)

4519248 84|5031 2912204
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